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1. ®# &8 R 1B

STEEKRIRAT {11 = 10°%kwH
T E i # 5 X B B ¥ A
KBTI REE KBTI REE KBTI REE
TR 126 5 X 4 171,889 1 X
134 5 X 4 163,767 1 X
145 5 X 4 137,808 1 X
(DD
K A W A
T E | ® | £ H|B R B| & | £ BB X A
2| mmm |0 mme 0| me= | D5 | me= |D0| me= |D0| mes
WL 126E| 4 171,889 4 171,889 — — 1 X - — 1 X
13%| 4 163767 4 163,767 — — 1 X - — 1 X
14| 4 137,808 4 137,808 — — 1 X - — 1 X
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2. ENBRKXUEHFEARR
STEEKRIRT {11 = 10°%kwH
& KT
o & E 8 RE=(A - B)| = (C) B 05 NREGEBAT | bSRIFRIEUT
sE| 2| B | Z|R|2R | R |2 R |2 | B | 2| B | 2| &
9 F wlRARIMWM|IB|IN|B|N | BN | A K| A
O & O & O & O & O & O & O &
3 A HlHhl[ L[] L[| & D] HE B HE DB
Y128 10,020 29,509 186 79 7,991 20,786 246 4,156 1 60 1,534 3,725 52 703
134E| 9,894 28904 183 76 7,858 20,142 244 4,110 6 91 1,548 3,738 55 747
1445|9775 28424 180 76 7,724 19,898 238 3,887 6 30 1,569 3,771 58 762
154E| 9666 27,904 185 77 7,544 19435 236 3,808 13 92 1,628 3,704 60 788
165E| 9613 27,542 179 78 7,463 19,280 234 3,661 22 116 1,653 3,573 62 834
1749|9458 27,156 160 72 7,306 19,060 237 3,704 21 144 1,670 3,301 64 875
(DDX)
ES ya|
o & E S as! N 0O X O Zfts
g | =2 E3 2| E| 2| E|E2|[FE| 2| E
9 F wlRR|I[MW|B|N|B|XN| B
O & O & O & O & O &
3 A gl phbl ][ HD][E]| D
Y128 1,181 46,947 61 17,110 770 12,753 4 11,801 346 5,283
135| 1,156 46,085 61 16,830 743 12,955 4 11,777 348 4,523
145E| 1,148 45768 63 17,078 738 12,115 4 11,654 343 4,921
158 | 1,128 47,835 61 18,742 717 11,316 6 12,802 344 4,975
164 X 47,120 X 19,476 X 11,944 X 10,062 X 5,638
175 X 45514 X 19,751 X 13,385 X 6,99 X 5,382
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3. £ K & KR R
(1) K IR R
SEEXRIRTE 81 = Fm®
F R8Ok B 1oEs| BWKkE
5 = E KR
W B | bokE | EEkE| BkE | BIUKE | mikes

Yk 125 2,122 2,096 26 6 1,674 177 271

134 2,070 2,050 20 6 1,648 165 257

145 1,947 1,928 19 5 1,551 173 223

154 1,967 1,949 18 5 1,570 188 209

165 1,920 1,920 - 5 1,542 186 192

175 1,878 1,878 - 5 1,503 189 186
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(2) HBEERFEBIRR

SRR {1 = Fm’
5 g | #y | zsm | 2z E;_ = g T8 | Don | B0 | fere
Yk 124 1,674 851 413 75 112 140 8 75
135 1,648 833 415 77 94 150 8 71
145 1,551 815 395 70 56 150 6 59
155 1,570 800 398 61 59 160 7 85
165 1,542 789 377 57 67 164 6 82
175 1,503 771 367 52 61 170 5 77
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(3) K B 1 =&
SEEXRIRTE B =5
= N A~ zn %
5 g | mxo | 280 %gﬁ - % pARERES
gl | B | s | mude
Yk 125 3 7 165,504 - 7,056 - 222
134 3 5 165,157 - 6,983 - 221
145 3 5 165,628 - 6,810 - 220
154 3 8 167,965 - 6,696 - 221
164E 3 8 163,485 - 6,613 - 220
175 3 6 163,533 - 6,500 - 220
) R, A, I——
(4) KBADPRILVKEZ LXK
SEEXRIRTE Bi=A-%
FE R @ ok A O
5 B | BEASE = K
A O @m | ks | @ske
Yk 125F 15,173 15,134 14,905 229 99.7
135 14,880 14,844 14,615 229 99.7
145 14,438 14,398 14,185 213 99.7
155 13,953 13,920 13,920 - 99.7
165 13,615 13,579 13,579 - 99.7
175 13,268 13,234 13,234 - 99.7
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(5) B2 KIF = IRR
ER18E38318IRTE
=4 pa) = FKkE SEUSE]
7K R 2 2 —
B K g ok i ®
1.0 Kk & 3 B m¥8 21,934 21,934 —
2Bl K 8 =E £ myB 6,069 6,069 —
3.8 Kk & I £ m 8,714 8,714 —
% 2K iic] % 2 2 —
1.8 A0 3% 1®
iy SIREE LR
(1) 37[1—@/1;5@{ o 4 4 -
waes m? 1,146 1,146 —
2.5 @ % I#
7‘3_ ﬁ II_;\E ;_7) )\@ /m
(1) 2@ { it 6 6 —
WA3emE m? 191 191 —
it B m*/B8 19,770 19,770 —
(2) 5@71&{
®= B m*B8 5,401 5,401 —
= 2K iic] %
(1) FEKEHRIES m 16,160 16,160 —
iy 2K iic] %
\ o 40 40 —
mmmm{
mwBa2 m? 7,865 7,865 —
= 3 —
(2) 1 EIEE'§7( n_i_ @ m~/8 19,770 19,770
Bo K 8L x4 m¥8 7,709 7,709 —
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